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81. F-+/35sin 480° + cos300° + tan225° = (A) 0 (B) 1 (C) 2 (D) 3 -

82. = 4v —1<sinx<1-> pl|sinx|+22 %] &% ™ 2(A)1(B)2(C)3(D)4-
83. (x+1)(2x-1)sozﬁz;;(A)xz—l(B)—lsxs%(C)xz%(D)xao

84, >0 y>0 - 2x+3y<12 > 5x+4y <202 i T » B]90x+100y 2 # + & % (A) 400 (B) 420 (C) 440 (D) 460 -
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2x+5 a b
85. %k arrbhidH = = + ra+b=?(A)2(B)3(C)-2(D)-3-
& S P03 x12 x:3 (A)2(B)3(C)-2 (D)

86. % 42 X —dx—k=07 £ 47 Al k=7 (A)—4 (B)—2(C) 2 (D)4 -
87. %7 i5=(1’3)‘5=(2’2—§)5ifﬂi~_€_’E'Jx=(A)5(B)6(C)7(D)8o

88. % (X* +x* —4)(2x* +5x-1) =ax’ +bx* +ox® +dx® +ex+ f Pl (a+e)xc=(A)0(B)1(C)-72(D) 36 -

1 a x a+x 1 x
89. #7758/l b y|=3:p|b+y 1 y|= (A)6(B)3(C)-2(D)-3-
1 c z c+z 1 z

90. S#icf(X)=—2+3x—4 hF7; > HEBE A% $%L2A) - B) = (C) = (D) = -
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% a>0r b<0- plEk(ab-b-a)is & %Ap 2(A)- (B)- (C) =(D) = -
92. ¢ B MLBZ(1 4) T HBRYy=A+3 T 7o xR EM Ly RIEL P 2(A)1(B)2(C)3(D)5 -

93. Hlog28+log25-1log7=? (A)2(B)3(C)46(D)60 -

95. ¥ - wdEFA 5 40-45-50-55-60-65-70-75- RIFAE L L (A) ¢ il 60 (B) ¥- wAdk Q 545(C) Hz A
#Q; 5 65(D) w4 =4 Q;-Q1 5 20

96. © = A2 (Xx-1)(x-3)+(y-2)(y-4)=0" RIeF2FeiEiwe? (A)(1-2) B)(2:-2) (C)(1-3) (D)(2-3)
97. $eir M y* +12x=02 g 8AH% 1 (A)(-3-0)(B)(3-0)(C)(0-3)(D)(0>-3)-
98. ¢ drxX Yy z Z fechE ETEolics 40 B X+l y+2 & 743 chE e ok 0?2 (A)5 (B)6(C)7(D)8 -

X(x-1)(x-2)

99. & f(x) = .

CRE0) 2 (A) —% ® -z © ; © §
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